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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten.

Define PIV.

What are the three types of transistor configurations?
Give the advantages of CE configuration.

What is the use of heat sink?

State the value of ripple factor in full-wave rectifier without filter.
Define semiconductor.

What are conductors? Give examples?

What is Reverse saturation current?

Draw symbol of NPN and PNP transistor.

Draw both characteristics of transistor.

Draw symbol and characteristics of zener diode.
OR
Draw symbol of tunnel diode, varactor diode and schottky diode
Classify photovoltaic cell depending on their effect.
OR
How thermal run away can be avoided?
Draw construction and diagram of 7 segment display.
OR

Explain the characteristics of a transistor in common collector configuration.

Explain half wave rectifier with necessary waveform.
OR
Explain full wave rectifier with necessary waveform.

Draw CC configuration of Transistor.
OR

Draw CB configuration of Transistor.

Explain working principle of CE transistor amplifier.
OR

Explain working principle of CB transistor amplifier.

Explain the working of zener diode.
OR

Define a and 3 Of a transistor.

Explain construction of bipolar transistor with sketch.
OR

Explain CE configuration of transistor with sketch.
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Draw fixed bias circuit of Transistor.
OR
Draw voltage divider bias circuit of Transistor.
Define thermal instability and thermal runaway
OR
Compare CE and CB configurations of amplifier
Explain the operation of a P N junction diode in forward and reverse condition
and characteristics.

A BJT has a base current of 250 pA and emitter current of 15mA Determine
the collector current and f.

Write the voltage and current equation for hybrid parameters.

Justify the need of filter in rectifier circuits.

Give two pints in comparison to L filter and C filter.
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